Paper / Subject Code: 23113 / Business Economics V -

Time: 3 Hours ¥ Marks:100

N. B. 1. All questions are compulsory.
2. Figures to the right indicate full marks.

1. A. Select the right answer and write the statement. (Any Ten) 10

1.Rashtriya Swasthya Bima Yojana provide health insurance coverage to
a. workers in unorganised sector  b. workers in organised sector
c. the entire population d. only women and children

2 is responsible for coordinating the SDGs in India..
a. Planning commission b. Ministry of Human Resource Dvelopment
c. NITI Aayog d. Ministry of finance

3. Which of the following is not one of the benefits of FDI?
a. Culture of consumerism b. Infrastructure development
¢. Transfer of technology d. Sectoral developments

4. The average agricultural growth rate since 2000 is
a. above 4 percent b. less than 4 percent
c. 2 percent d. less than 2 percent

5. Kisan Credit Card was introduced by ~—-—---n-vwmrmn
a. RBI b. NABARD
C.SBI1 d. Co-operative Bank

6. Fair price shops protect the interest of
a. poor farmers b. poor consumers
¢. poor traders d. money lenders

7. ivvoeieeen....... Is not a factor responsible for low productivity in Public Sector.
a. Under-utilization of capacity ~b. Improving public finance
c¢. Lack of autonomy d. Problems in personnel management

8. Which of the following is not a precondition for industrialization?
a. Availability of skilled labour

b. Availability of Natural resources

c. financial capital

'~ d. Adequate rainfall

9. Competition Act does not prohibit .................

A. anti-competitive agreements B. abuée of ééminant position
C. emergence of monopolies D. effective competition
10. The Imperial Bank of India, in 1955 after nationalization was given the name of ~--—-—
a. Indian Overseas Bank b. Reserve Bank of India
C. State Bank of India ‘ d. Bank of India
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11 Which of the following combinations are correct?
a. NABARD - industrial loans b. RBI - long term finance
¢. RRB - agricultural finance c. IDBI - short term loans

12. 'Insurance Regulatory and Development Authority's role is to
a. Protect the interest of holders of insurance policy

b. Regulate and promote the insurance industry

c.Both A& B

d. Promote the industrial sector in India

B) State whether the following statement true or false. (any 10) 10 <
1. The Indian Public Health Standards provides a reference point for the functioning .

of the public health centers.

Skill India is an initiative to make India a manufacturing hub.

The government institution that is responsible for formulation of FDI policy in
India is The Department of Industrial Policy and Promotion.
Minimum Support Price guarantees the farmers with market price.

Issue price is at which the government supplies food grains in the open market.
Kisan credit card was introduced by Commercial banks,
ITP measures the general level of inflation percentage.

Central Statistics Office (CSO) comes under Ministry of Statistics and
- Programme Implementation. ‘

9. Disinvestment involves encouraging investment abr

10. When loan is doubtful to be repaid even after 30 days of the stipulated date, it

becomes non-performing asset.
11. ATM means Any Time Money.
12. Insurance density is rising in India.
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2. - Answer any two of the.follc.)w@g;"‘“- : : o 1S
. e /‘ \.&V b 3

a. . Outline the government policies and programmes with reference to health and
. family welfare. (( 55N , -

&

‘ le ﬁevelopmeiit Goals.

o'of the following. -~ > 15

3 S the features of National Agriculture Policy, 2000,
b. Discuss the main sources of institutional finance for the agriculture sector in India.
c\ %q; in the reforms introduced by the government to improve agricultural

-

N ) 8 3 15
a. Critically examine the disinvestment policy in India.
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